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1.

12 V R dieean i a1eeh a1 ST
Toreft wiewr fommrer o Swor 3 for e T
3 | q9 WigeW EwH 75% % Y
Higereh et 6t firg dieear grft

(1) 6V 2) 9V
(3) 12V @) 16V

o 3 it f or rebra % forg et fig

% gfta: Fieem & T2 wofig gem s afEm g

6 kg
+{O—2m/s

tms
; (T)3kg i
Ole—2m —f
(1) 42 kg m%/s (2) 54 kg m?%s
(3) 48 kg m%/s 4) 6 kg m?s
Tk SIcAh 1 A™E T 100 & o
T TR T 1 3@ AR | T

FfimEE:
50n 100 =
D 12 @ 9
51m 1017
@ @ 53
T % G Fell Grg A S, T S, S
T Hell H A TOTeEd o TehTal Ieqford

R & N g feg e g (0, 30
W@ & | T & Th TEES 1 UATcHS
x Tesm & wermen ST B | wehTwn 3 safeRtn

© % HRIT x & T I B Tt JUH Hife

% 3y 6 safeafa B

() x=125L  (2) x=4AX

(3) -x=X - (4) x=A2

T ZINT & WIS TaR fomrmg 3
YR YaEH ok 0.95 2 | 39 fomrmm

Ife; ST TR 2 mA &, T TR & 8t

(1) 0.1 mA (2) 0.2mA
(3) 0.19 mA 4) 1.9mA

A carrier wave of Peak voltage 12 V is
used to transmit a message signal. Then
the peak voltage of the modulating
signal in order to have a modulation
index of 75% will be

(1) 6V 2) 9V

(3) 12V 4 16V

. For the two particle system shown in

figure, the magnitude of the net angular
momentum of the system about origin is
A >

6kg -
+O—2m/s

A 1lm/s

| L

Ol‘(—— 2m —>{ '

(1) 42kgm?s  (2) 54 kg m%s
(3) 48 kg m?s (4) 6kgm?s
The quality factor of an oscillator

whose amplitude decreases to half its
initial value in every 100 oscillation, is

50n 100 %
1) — 2
M In2 _ @ In2
S5ln 101w
3 — 4
3) In2 (-) In2

Two coherent sources of light S; and S,

of wavelength A emitting in phase are
placed respectively at origin and at
(0, 3X). A detector of light is to be
moved along positive x-axis from
origin. The location of the first order
maxima obtained on the x-axis due to
interference of light is at

(1) x=125A - (2) x=4A
(3) x=A 4) x=AR2
The current amplification factor for a
transistor in common base

configuration is 0.95. If in this
configuration the emitter current is
2 mA, then the base current will be
(1) 0.1 mA (2) 0.2mA
(3) 0.19mA (4) 1.9mA
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(1) +2gx

%a‘qu T T Tty Streres 6t
ST Feas wfeieen 8 = amu ¥ forg
forereh Tt 2 7 (6, feamé 1w B)

m S TS L s Y 0 & 5 ¥
THE R | T FH A R A w
e fofg v ot # argorey it = B

=
(2) >

3) 2yex @ Jex

100 V W Sr=fera T fered HieX 10 kg %
FIAM I 10 m hY SIS dh 33 H
o ATt B | 78 T HM B 5 s H QU Fl
BAATEG H 3 A G TRV el & | HieX
T 3 T (S ) Bl (& 6 et
IS gIET ST TE & g = 10 m/s?)
(1) 100 (2) 200

(3) 300 4) 500

“He T HT &1 1 A 8 | 4 %7 1 mol,

20 K R 20 efiet 3mas Ot ® | srogait

ST AT o UL BT ST
{fea 8 R = 8.4 T mol~! K-! a1 1avTgY
HEIIN,, =6 x 102 mol™')
(1) 75x107m (2) 3.25x107m
(3) 1.25x107m (4) 49x107" m

(3) 300

The heat' capacity in Debye (0j) -

approximation at low temperatures of
one dimensional monoatomic lattice is
proportional to

(8 is Debye temperature)

T2 T3

) S

(1) o () o
3

T i i

Sl 4) —

o [BD] = Op

A uniform rope of mass m and length L
hangs from a ceiling. The speed of
transverse waves in the rope at a point
at a distance x from the lower end of the
rope is

(1) 2ex ) %
(3) 24gx @ ex

An electric motor operated at 100 V is
used to lift a 10 kg mass to a height of
10 m. It completes the job in 5 s and
withdraws 3 A current from the source.
Heat produced (in joule) in motor will
be {assume no other losses to be
present, g = 10 m/s?}

(1) 100 (2) 200

(4) 500

The diameter of “He atom is 1A. One
mol of the gas occupies 20 litres at
20 K. The mean free path of the
molecules will be, nearly {Given

R = 84 J mol! K! and Avogadro

number N, =6 x 1023 mol™'}

1) 75x107m  (2) 325%x107m

3) 15x10'm 4) 49%x107m
a



10.

11.

12.

13.

4 m/s

TR foamg 3w -Q, —q, +2q TAT +2Q
SFOT: T a3 wroefie @ # | Q@R
q & dey e fog ot & Fg w fove
YA, 8 '

(1) Q=q (2) Q=1/q

(3) Q=-q 4) Q=-1/1q .
20 °C a9 9 @8 & Teh qR T Jfadg
10 © B 7 SA1R T TleRiErshan q1g T
5 x 1073/ °C 8 1 20 °C A9 W 364
30 mA 9N JaTEd & | AR % Rl W
fervye fera wad gT 391 919 120 °C
T S ST 8 | 316 aRH 9T 8

(1) 20mA . (2) 15mA
(3) 10mA (4) 40 mA

T €8 Yraeh WX feram I St 100 mm
v & T e 4@ IIeeT 40 A-m 2 |
S[rTeh o Yl I T aTet 3w < weed

HHfgwTorh W gFS F h 5§ 120 mm P
T fermg e ST

(1) 91uT
(3) 364 uT

(2) 182 uT
(4) 546 uT

Forelt cer e 35 e TR R
foru am-fereanom a3k fom W g STHER
2 | " U7 T {3 m%‘dﬁ;ﬁ%

TETOT <1 qRETOT B
VJ

\\
60°7~

> X
(1) 4+/3 m/s? (2). 33 m/s?

(3) 3 m/s? 4) %mr’sz

10.

11.

12.

13.

4 mfs

Four point charges —Q, —q, +2q and +2Q
respectively "are placed on the four
vertices of a square. The relation
between Q and g for which the potential
at the centre of square is zero, is

(1) Q=q ) Q=1/

3) Q=—q @ Q=-1/q

The resistance of a wire of iron at 20 °C

~ is 10 Q and temperature co-efficient of

resistivity for iron is 5 x 1073/ °C. At
20 °C it carries a current of 30 mA
keeping potential difference across the
wire constant, its temperature is raised
to 120 °C. Now, current in wire is

(1) 20mA (2) 15mA
(3) 10mA (4) 40 mA

Consider a bar magnet which is
100 mm long and having pole strength
of 40 A-m. The magnetic induction at a
point 120 mm from the centre of
magnet on the perpendicular bisector of
the line joining the poles, is

(1) 91uT (2) 182uT

(3) 364 uT (4) 546 pT

For a particle moving along a straight

line, the velocity — displacement graph
is as shown in fig. The magnitude of
acceleration of the particle when its

displacement is 3 m, will be
VI

LA
" 3m
(1) 4\3m/s? (2) 343 m/s?
(3) 3 m/s? @) — 2

V3

02



14.

15.

16.

17.

02

o e & vV dee fawawr gw
@a goideH § grag S-snTelt qureed
2

(1) A,=1227/4VA

(2) A, =1227/VA

(3) A =1227xJV A

@ A, =1227xVA

2 T U0 TRER FHIST & €T 20 em
5 & gurss & | 399 o U e fag
T 1A 5 em g wTEn § () /gdw 1

991 9 & Fereaw gfafarat 6 30

E&Wﬁﬁi{'ﬁ%, m;
2

1

«<—20cm —>
(1) 5cm,35cm  (2) 5cm, 15cm

3) Scm,10cm  (4) 5cm, 20cm

ot & § 22 g CO, W= & & fore
FTavas A Y Wiel hY T @
(1) 0.1 7 (2) 0.50a
(3) 19 (4) 29

T Hiefl © Y TS L 8 A1 36 T
@ g man gt =L w2
AfE B 1 W FEHM B A = Ax g
e e 8 Srel A U a2, 9 o
& goaH Fg o FRafa e 2

(D x,=L2 ) x,,=3/4L
3) x;,=L3 @) x,=23L

14.

15.

16.

17.

The De-broglie wavelength associated
with an electron, accelerated through a
potential difference V is

(1) A,=1227/4/V A
2) A, =1227VA

(3) A, =1227xVA
4) A,=1227xVA

Two plane mirrors are parallel to each
other and separated 20 cm apart. A
luminous point is placed between them
and 5 cm from mirror 1 (Figure). The
distances of two nearest images formed
by mirror 1 from it are respectively :

2 1

A ©

cm

«— 20 cm —>
(1) 5cm,35cm  (2) Scm, 15cm
(3) 5cm,10cm  (4) 5cm, 20 cm

The number of moles of methane
required to produce 22g CO, after

coniplete combustion is
(1) 0.1 mol (2) 0.5 mol
(3) 1 mol (4) 2 mol

A straight rod of length L has one of its
end of the origin and the other at x = L.
If the linear mass density of the rod is
given by A = Ax, where A is a constant,
the location of its centre of mass is
given by '
(1) x,,=L2

3) x,=LA3

(2) x,,=3/4L
@) x,,=2/3L



18.

19.

20.

21.

22.

. ieET e g §
9 .
- [P-%)(Lnb):nm

-
) [P + %—] (V + nb) = nRT

2
3) (P + %} (V —nb) = nRT
2

@) (P +an) (V - -a-vn—] - 0RT
fr=faRea fFa gm 6 ey =i T
87

(1) N, F, (2) N, NO*
(3) 0,CO 4 O07,N,
-1 1 gE-11 & e hifr :

-1 HeA-11

I.  XeF, (a) T-31pld

II. BrF; (b) =i gHaet

. CIF, () e%eft

IV. SF, (d) w=i-fufE
e :

I I I Iv
M @ ® © (@
2 @d © b @
3) @ () © (@
@ b @ @ ©

Prerferfra ST/ a1 i & e Seer

et &1 WA wifees & 2

(1) [Cr(H0)P* (2) [Fe(H0))*

(3) [Zn(H0)g]* (4) [Ni(CO),]

foR gm = w A $i f[fvas oen =
JTRIA IHh TOH AT 3 FHTAT Bell &,
T8 HU 3

(1) sge =1

) =Ted &1 frm

(3) -8 w1 fem

(4) JmETTE! T fREm

18.

19.

20.

21.

22,

van der Waals gas equation is

2
(1) (P—?{—}-) (V = nb) = nRT

; 2
2) -[P + %) (V +nb) = nRT
2
3) [P + i,ij (0= gby=nRT
an?

4) (P+an)( —“\',—)=DRT

Which of the following pair have same
bond order ?

(1) N, F, (2) N,,NO*

(3) 07,Co @ OF,N,

Match the List-I with List-II :
List-I List-II

I. XeF, (a) T-Shape

II. BrF; (b)
. CIF, (o)
IV. SF, (@

Code :

I I I 1Iv
() @ (b) () (@
(2) @ (@© @ (@
3 @ b © @
@) (b) () (@ (o)

Among the following ions/molecule,
which one has the highest magnetic
moment value ?

(1) [Cr(H)P* (2) [Fe(H,0)*
(3) [Zn(H0))** (4) [Ni(CO),]

Square planar
See-Saw _
Square pyramid

At constant pressure, the volume of a
fixed mass of a gas is directly
proportional to its absolute
temperature. It is the statement of

(1) Boyle’s Law

(2) Charle’s Law

(3) Gay-Lussac’s Law

(4) Avogadro’s Law

02



23.

24.

25.

26.

27.

28.

29.

02

feefrar omed S a9l Li, Be, B @1 C %
YT A Tt & 71 o TE A B
(I) C>Be>B>Li
(2) C>B>Be>Li
(3) Li>Be>B>C
(4) B>C>Be>Li

frfcified 4 @ Rraeht ~Faw womerss
ToTeg wfed udedt 2 2

(1) P 2) S

3 cl. 4) F

Nat * SHppy e 2N AT =V

(1) Kp=K(RT)2(2) Kp=K(RT)?
(3) Kp=KcRT) 4) Kp=K(RT)!
800 K T &g I § SHUFFITN,, ) + O,y
== 2NO,,, % foTu wm=rrereen wrzamd
8:N,=3.0x10°M,0,=
42 % 103 M 3R NO =28 x 10> M
arfwrferan 3 forg K. =1 A @ g ¢

1) 0.622 (2) 0722

(3) 0.822 (4) 0922

TS WehH o TG oH et 3 B % forg
et feufa 8

(1) AT=0 (2) AP=0

(3) q=0 4) ©=0

F’aﬁﬁ'{ :
wvﬁ%aagawqusﬂﬁ%
(1) ST SSHT-YREdA] ! FId HE &+ forw

B R |
) %mwmﬁﬁkﬂﬁw%i

(3) S S~ H i TR F

BRI
(4) %mmmmﬁﬁhw%

frfafed Svagwaems 36 § @ wF @
fopter (ggamr oiep) & 7

(1) [Fe(CN)¢J*-

(2) @HYE - [CrCl,(0X),1*

(3) Te®&t — [CrCL(0X), 1>

(4) [Fe(CN)gI*

23.

24.

25.

26.

27.

28.

29.

The correct order of first ionisation
enthalpies of elements Li, Be, B and C
of second period is :

(1) C>Be>B>Li

(2) C>B>Bex>Li

(3) Li>Be>B>C

(4) B>C>Be>Li

Which of the following has least
negative electron gain enthalpy ?

(1) P 2) S

3) cC 4) F

For the reaction

Nz(g} + 3H2(g) 2NH3(g} AH = -ve
(1). Kp=KRT)2(2) Kp=KRT)?

(3) Kp=KRT) (4) Kp= KC(RT)‘I

At equilibrium the concentrations of
N,=30%x10°M,0,=42x103M
and NO = 2.8 x 103 M in a sealed
vessel at 800 K. What will be K. for the
reaction N2(g) + OZ(g) = 2N0(g) ?

(1) 0.622 (2) 0.722

(3) 0.822 4) 0.922

For the process to occur under adiabatic
conditions, the correct condition is

(1) AT=0 2) AP=0
3) q=0 4 =0
Choose the correct answer. A

thermodynamic state function isa quantity

(1) used to determine heat changes.

(2) whose value is independent of path.

(3) used to determine pressure-
volume work.

(4) whose  value
temperature only.

depends  on

Which of the following co-ordination
entity is chiral (Optically active) ?
(1) [Fe(CN)¢I*-

) cis—[CrC!z(OX)gla"
(3) trans — [CrCL(0X),]1*
(4) [Fe(CN)( I+



30.

31.

32.

33.

34.

35.

36.

frferftaa sifwfran 3
Py + 30H7,, + 3H,04 — PH,,,

+ 3H,PO, P <1 3fferfieRtor e P,
PH, 3 H, PO; & 5w¥1: 8 ;

(1) +4,+3,+2 (2) +4,-3, +1

(3) 0,+3,+1 4) 0,-3,+1

g gered S 7 o gy iR e
Terl ST, 98 HET 8 |
(1) T (2) AT

(3) I (4) IR
Freaferaa & & i o1 Faie a6 8 -
(1) T =g (2) HeATTEH

(3) THORIEE 4) Toeprge

W& AT (aq) Y, TR 0T {orer
H foremn Sar @ @9 wga Alenm @
frefeiRaa % s @ fems gm -

(1) [CuOH), I,

2) [Cu(NHy),I?* o
(3) [Cu(H,0), (NH3),I*
@) [Cu(H,0),1*

TRt & Trtaitad fra srfedieont o
qFaTse s 8 2

(1) H,SO, (2) H,S0,
(3) H,S$,0, (4) H,S,0,
FrfeaRaa i @ 319 a1d & S e

AT b sp3, sp2, sp?, sp HEHLUT H _

THR TSR T 8 ?
(1) HC=C ~-C=CH
2) CH,=CH-C=CH

(3) CH,-CH=CH-CH,
(4) CH,-CH=CH-CN

2 & 7 e o feg fenfs =1
ST B @R ?

H,S g + Cly (g = 2HCI + 5

(1) Cl, 2) HyS

(3) HCI @ S

30.

31.

32,

33.

34.

35,

36.

(1) +4, 43,42

" (1) Zincblende

In the following reaction,

Py + 30H7 ) + 3H,0( — PHy,

+ SHZPO; the oxidation states of P in

P,, PH; and H,PO, are respectively

(2) +4,-3,+1

3) 0,+3,+1 4 0,-3,+1

The substance which reacts with
gangue to form fusible material is
called

(1) Flux (2) Slag

(3) Ore (4) Catalyst
Among the following, carbonate ore of
Zinc is :

(2) Calamine
(3) Sphalerite (4) Zincite
When ammonia (aq) is added to a
cupric salt solution, the deep blue
colour is observed due to formation of
(1) [Cu(OH), I, -

(2) [CU(NH3)4]2+{aq)
(3) .[Cu(H,0),(NH,),]**
4) [CU(H20)4]2+

Which of the following oxo-acids of
sulphur has peroxide linkage ?

(1) H,SO, (2) H,S0,

3) stzos_ 4) H,S,0,

Which of the following molecules
represents the type of hybridisation sp?,
sp2, sp, sp from left to right carbon
atoms ? '

(1) HC=C-C=CH

(2) CH,=CH-C=CH

(3) CH,-CH =CH - CH,

(4) CH;~CH=CH-CN

In the reaction given below, the species
undergoing oxidation is

H S(g} + sz @ 2HCI + S

(1) :Cl, (2) H,S

3) HCf 4) S

02



37.

38.

3%,

40.

41.

42,

02

(3) Frefir-B,

frafafaa 4 @ frosr sgohiew @
s s S 8 2

(1) 2-15%;&-1,3-@19151'54

(2) 2- 1,3-E1§I3I§4

(3) 1,3

CORRUESIEIEAES]

T % THETH & :

(1) SHA 3N AT

(2) SHAA IR ST

(3) TR Teghier 3R it oA
(4) e g 3 Aferes I

ATTEHUSS 1 ISR &
(1) g (2) T
(3) TEEE (4) HgeE

ForerferRea form frerfm <t Emran @ womsfi
T gt & 7
2) =B,

(1) feerf=-B,
@ featE-B,,

frfafaa wom # § B &1 YD
3t o fore w7l @ 2
(1) et e & whu i 17 fRafe m
gﬁﬁgﬁﬁaﬁéaﬁ:{%&m@
| _

'(2) ~fFasiTge Wbt # 57 ferfd =

q:r@ﬁﬁmgraﬂsﬁm:{\ﬁlﬂaﬁasg

T |

(3) AfFASCIEE W H BREHISTHUERT
S g TR 810 & S 9y Wehtl
& 3 qUT 5’ HIET TR 5 T
REEAE |

(4) Torelt &mes o wehu AT 17 TRafd W
gﬁgﬁﬁaméﬁqﬁﬂm

|

Frfafiga s &1 ITUPACTE 2 :
CH3—(|f—CH2—CH2~CH2— T-OH
o) 0
(1) 6-<hIaTaRT, Fa-2-31H
(2) 5-3ATed] 2aeHTES I
() wffea AT e
) 1,5-

K. 78

38.

39.

40.

41.

42,

Neoprene is prepared by
polymerisation of which of the
following ?

(1) 2-chloro-1, 3-butadiene

(2) 2-methyl 1, 3-butadiene

(3) 1, 3-butadiene

(4) Acrylonitrile

The monomers of dacron are :

(1) decane and decanol

(2) decanone and decanol

(3) Ethylene glycol and terephthalic acid
(4) Ethylene glygol and phthalic acid

The example of oligosaccharide is :
(1) Sucrose (2) Glucose
(3) Ribose (4) Cellulose

Deficiency of which of the following
vitamin causes pernicious anaemia ?
(1) Vitamin-B, (2) Vitamin-B,
(3) Vitamin-Bg (4) Vitamin-B,,

Which of the following statement is not

correct for nucleic acids ?

(1) A unit formed by the attachment of
a base to 1’ position of sugar is
known as nucleoside.

(2) Nucleoside linked to phosphoric
acid at 5" position of sugar gives
nucleotide.

(3) Nucleotides are joined together by
phosphodiester linkage between 3
and 5" carbon atoms of the pentose
sugar.

(4) A unit formed by the attachment of
base to 1’ position of sugar is
known as nucleotide.

The IUPAC name of following
compound is
CHS—ﬁ—CHZ—CHZ—CHz—ﬁ—OH

0 O
(1) 6-Carboxy, hexan-2-one
(2) 5-Oxo hexanoic acid
(3) Butyl methyl ketone
(4) 1, 5-diketohexanol
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Which of the following is a disinfectant ?
(1) Soframicine

(2) Furacine

(3) 0.2% solution of phenol

 (4) 1% solution of phenol

Which of the following is not a
derivative of barbituric acid ?

(1) Equanil (2) Veronal

(3) Amuytal (4) Nembutal

Freundlich adsorption isotherm is
expressed as equation

1L

(1) —=kP"(n>1)

2) —=kP"(n>1)

=3 Blx =

(3) —=kP"(n> 1)

@) ==kP' (n>1)

Which of the following acts as
promoter for iron in Haber’s process 7

(1) Mn (2) Mo
(3) Mg @ W

An example of gas dispersed in solid is
(1) Cloud ’

(2) Froth

(3) Fog

(4) Pumice Stone

The polymer having
intermolecular forces is

(2) Polythene
(4) Buna-S

strongest

(1) Neoprene

(3) . Nylon-6
02
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FOHTAA T T R 2

1 F 2) SOy

(3) NO, (4) CI-

fratafaa o frae v fs arderes
¥ w9 3 R ST ? 2

(1) za diform

) zafem

(3) 53 AN

(4) g S

e teamei R T daar s el FH 2
(1) AgCl<Agl<AgBr
(2) AgCl< AgBr < Agl

“(3) Agl< AgBr< AgCl

(4) AgBr < AgCl < Agl

frafeRen fea gm0 & ol @1 TR
T EHE TR B 2
(1) Zr, Hf
(3) Nb, Os

(2) Mo, W
(4) Pd, Pt

foree O % o e g 1 G T,

TRe 3R AfErss H AT R 2
(1) Cu (2) Fe
(3) Ca (4) Mg

frfafea # @ 9 @1 v et
0 <hIgL T T TeH a1 & ?
(1) PAN (Wieitgifes Trgee)

(2) O,

(3) TEIH JATHATES
(4) CFCs
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Excess of which ion in drinking water
causes methemoglobinemia ?

1) F @ soy

(3) NO; 4) CI~

Which of the following is used as
cryogenic agent ?

(1) Liquid Helium

(2) Liquid Neon

(3) Liquid Argon

(4) Liquid Xenon

The correct order of colour intensity of
Silver halides is :

(1) AgCl< Agl < AgBr

(2) AgCl< AgBr < Agl

(3) Agl < AgBr< AgCl

(4) AgBr< AgCl < Agl

Which of the following pair of elements
does not have almost same size ?

(1) Zr,Hf (2) Mo, W

(3) Nb, Os (4) Pd, Pt

Wilson’s disease causes accumulation

of which metal in the liver, kidney and
brain ?
(1) Cu
(3) Ca

(2) Fe
4) Mg

Which of the following is not a
common component of Photo-chemical
smog ?

(1) PAN (Peroxy Acetyl Nitrate)

(2) O '

(3) Nitric Oxide
(4) CFCs
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max

(1) 273 nm
(3) 303 nm

(2) 293 nm
4) 313 nm
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() L10V

Ay fOr the following compound is :

(1) 273 nm
(3) 303 nm

(2) 293 nm
(4) 313 nm

The tin of a reaction is halved as the

initial concentration of the reactant is
doubled. What is the order of the
reaction ?

(1 0 2 1

@) 2 “4) 3

What is the standard potential E° of
the cell

Zn ]Ian*' amy 1 T ¢y | Cul | Cu of
E°, 2+ |zn = -0.76V and
EOCU+|CU ="0.1?V ?

2) 093V

3) -093V 4) 059V

18 g of glucose (C4H,,05) is dissolved

in 1 kg of water, at what temperatu're'
will water boil at 1.013 bar ? (K forl

water = 0.52 K kg mol!)
() 0.052K 2) 052K
(3) 373.15K 4) 373.202K

The reaction of diazonium salt with
aniline to give p-amino azo benzene is
an example of which type of reaction ?

(1) Electrophilic addition reaction
(2) Nucleophilic addition reaction
(3) Electrophilic substitution reaction

(4) Nucleophilic substitution reaction

02
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The prokaryotic cell lacks

(1) Nuclear envelope and DNA
(2) Nuclear envelope and plastids
(3) DNA and mitochondria

(4) Cell membrane and nucleus

During secondary growth a wavy ring
of cambium is formed in

(1) Dicot stem

(2) Dicot root

(3) Monocot stem

(4) Monocot root

Which of the following term is not used

‘to describe the occurrence of male and

female reproductive
different plants ?
(1) Heterothallic
(3) Monoecious

structures on

(2) Dioecious
(4) Unisexual

“Osmosis is the diffusion of a solution
of a weaker concentratior = into a
solution of stronger concentration when -
both are %eperated by a semi-permeable
membrane.” What is the error in the
above statement ?

(1) The movement of solvent is not
specified.

There is no mention of DPD.
Behaviour of semi-permeable
membrane is not specified.

The exact concentrations are not
indicated.

(4)

Micro-organisms like bacteria encode
much more information than the triplets
they have. This indicates that

(1) - The genetic code is overlapping. -
(2) Genes are non-overlapping.

(3) Each base pair codes for one
amino acid.

Genetic code is non-overlapping
but the genes are overlapping.

4
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Chemiosmotic theory states that an
‘jon’ flowing down its electrochemical
gradient drives ATP synthesis. Here the
‘ion’ concerned is :

(1) Phosphate
3 Calcium

(2) Iron
(4) Hydrogen

Which one of the following is an
aerobic process ?

(1) Lactic acid fermentation
(2) Glycolysis

(3) Alcoholic fermentation

(4) Acetic acid fermentation

The inhibitory effect of red light on
flowering during critical dark period in
short day plants can be overcome by

(1) Blue light

(2) Far-red light
(3) Ultraviolet rays
(4) Green light

“Jared Diamond has described “the evil
quartet”; the four major causes of
biodiversity losses.” Which of the
following alternative is nbt included in
the quartet ?

(1) Habitat-loss and fragmentation

(2) Pollution

(3) Over-exploitation

(4) Co-extinctions

Which one of the following is the
essential nutrient element required in
the photosynthetié oxidation of water ?
(1) Magnesium  (2) Manganese
(3) Molybdenum (4) Iron

02
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Functions of smooth muscles, cardiac
muscles, organs and glands are regulated
by which of the following system ?

(1) Parasympathetic

(2) Sympathetic

(3) Central nervous _

(4) Autonomic Nervous System

Which of the following is not a part of
the Kidney structure ?

(1) Malpighian body

(2) Malpighian tubule

(3) Glomerulus

(4) Loop of Henle

In cockroach the cavities of foregut and
hindgut are lined with

(1) Salivary Glands (2) Gizzard

(3) Chitinous teeth (4) Cuaticle

Which of the following concept is

attributed to Charles Darwin ?

(1) Use and disuse of organs is of great
importance in evolution.

(2) Every cell comes from pre-
existing cells.

(3) In the struggle for existence, the

fittest would survive.

(4) The gametes carry only one

character of the pairs of

contrasting characters.

Match the structures given in Column I
with the tissue given in Column II in
which they are present. Select the correct
answer using the codes given below :

Column I
(a) Chondrocyte (i)
(b) Fat Cells (ii)

Column II
Nervous tissue
Voluntary
muscle fibre
Cartilage
Bone

Adipose tissue

(¢) Myofibril
(d) Axon
(e) Periosteum

Codes :

(@ (b)
(1) (i) (i)
(2) (1v) (v)
(3) (@) (v)
4 v @

(iii)
(@iv)
v)

(©)
(v)
i)
(i)
(iv)

(d)
@iv)
(i)
(1)

(ii)

(e
(i)
(iii)
(iv)
(iii)
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Probiotics are

(1) cancer inducing microbes

(2) safe antibiotics

(3) akind of food allergen

(4) live microbial food supplement

Ti plasmid used in genetic enginneering
is obtained from

(1) Bacillus thuringiensis

(2) Agrobacterium rhizogens

(3) Agrobacterium tumefaciens

(4) Thermus aquaticus

Which one of the following phylum is
characterised by absence of true coelom ?
(1) Nematoda (2) Echinodermata
(3) Mollusca (4) Annelida

Select the incorrect statement given
below.

(1) Mycoplasma are bacteria that lack
cell wall.

Bacteria are .small infectious
agents that replicates only inside
the living cells of host. |

)

(3) Viroids are infectious RNA
molecules.

(4) Prions are infectious protein
particles.

The nervous system in humans develop
from embryonic

(1) Ectoderm

(2) Endoderm

(3) Mesoderm .
(4) Both endoderm and mesoderm

Crossing over takes place between

(1) two chromatids of a chromosome

(2) sister chromatids of homologous
chromosomes

(3) non-sister chromatids of
homologous chromosomes

(4) non-sister chromatids of non-

homologous chromosomes
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3

(@)
(b)
(c)

(d)
e)

An example of “an algal colony
consisting of definite number of cells in
a specific arrangement” is :

(1) Nostoc (2) Ulothrix

(3) Volvox (4) Polysiphonia

The technical term used for fungi that

grows on animal dung

(1) Fungicolous (2) Coprophilous

(3) Lignicolous  (4) Keratinophilic

Select the incorrect statement in

reference to bryophytes :

(1) Bryophytes are amphibians of
plant kingdom.

(2) The independent plant body of
bryophytes is the sporophytic
generation.

They are non-vascular plants.

(4) They reproduce via spores.

Enzyme responsible for nick translation

on the lagging strand, during DNA

replication, is :

(1) DNA polymerase [

(2) DNA polymerase I1I

(3) Topoisomerase

(4) Primosome complex

Match the innate immune system cells

in Column-I with their functions in

Column-II and choose the correct

answer using the codes given below :
Column I Column II
Eosinophils (1) Phagocytosis &

Bacteriocidal
action
Neutrophill = (i) Release of
histamine &
other
substances
Mast Cells  (iii) Lysis of
infected cells
Cytokines  (iv) Killing
parasites
Natural (v) Messengers of
Killer cells immune system
Codes :
@ O © @ ©

(1) Gii) @Gv) () (v @

@) G G Gi) G O

3) (v Gy @) @O GV

@ (v O 3G v (3

(w]
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Consider the Assertion (A) and Reason
(R) and choose the correct answer using
the codes given below.

Assertion (A) : The wood of Pinus
provides commercially important
timber.

Reason (R) : The wood of Pinus.is

- manoxylic.

Codes :

(1) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A) is false but (R) is true.

Fertilization is the process of

(I) Transfer of the pollen from anther
to stigma

(2) Fusion of one male gamete Wlth .
the egg

(3) Formation of seed from ovule

(4) Fusion of male nucleus with polar

nuclei

The secondary vascular bundles formed

in the stem of Dracaena are

(1) Amphivasal

(2) Amphicribal

(3) Conjoint Collateral Closed

(4) Conjoint Collateral Open

The osmotic parameter determining the
flow of water from one cell to another is

(1) Osmotic pressure

(2) Diffusion Pressure Deficit
(3) Turgor Pressure

(4) Hydrostatic Pressure

Placement of Gymnosperms between
Dicotyledons and Monocotyledons is
one of the drawbacks in the system of
classification of

(1) Rendle

(2) Engler and Prantl

(3) Bentham and Hooker

(4) Linnaeus
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‘@ b © @ @©

() @) @(v) (v 3> (i)

(2) Gi) (v) @Gv) @) (@i

3 v @ >Gv) Gi) (i)

(4 (i) @v) Gi) @ ()
Frfeftaa ufranaii &1 st Fif ;
(A) T Sl TN TqEEA

(B)

(C) FET-SI5-HTHET3E hH1 HTEIT
(D) NADPH, %1 ST
ﬁﬁ@fﬁqém GIATYT T THR
GfFaT % ATH B 8 2

(1) A (A) W (B)

(2) 3 (A), (B)W (C)

(3) I (A), (B) W (D)

4) (A),(B), (C_)U.H(D)

(i) =W TEEA F
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91.

92.

93.

9.

During aerobic respiration, all the ATP
are synthesized as a result of

(1) Oxidative phosphorylation

(2) Oxidative and  Substrate level

: phosphorylation

(3) Substrate level phosphorylation

(4) Oxidative and Photo-
phosphorylation

Starch consist of

(1) Unbranched amylose and
amylopectin

(2) Branched amylose and
amylopectin

(3) Unbranched amylose and
branched amylopectin

(4) Branched amylose and

unbranched amylopectin

Match the Hormones given in Column I
with their role mentioned in Column II
and select the correct answer using the
codes given below :

Column I Column II
(a) Gibberellin (i) Promotes
bolting
(b) Auxin (ii) Responsible
for
respiratory
climactic
(c) Cytokinin  (iii) Plant growth
inhibitor
(d) Abscisic (iv) Apical
Acid . Dominance
(e) Ethylene (v) Cell division
Codes : '
(@ (b)) () @) ()
(1) (1) (@v) (v) @) @1
(2) () (v) (@v) (i) (i)
(3) (v) () (@{v) (1) ()
4) Gi) @(v) Gi) @ W)

Consider the following processes :
(A) Photolysis of water

(B) Photophosphorylation

(C) Reduction of carbon dioxide
(D) Formation of NADPH,

Which of these occur during light
reaction of photosynthesis ?

(1) Only (A) and (B)

(2) Only (A), (B) and (C)

(3) Only (A), (B) and (D)

4 (A), (B),(C)and (D)



9s.

96.

97.

98.

99.

AHE § HYT dfEestatl s S gl &

(1) 6™ (2) 129H
(3) 247™ 4) 209™
ATSHIEIT 7 S T Te=t AT 2

(1) Tet T ShivTehIaT |
(2) "= H A
(3) TR HI AR UMY I

(4) THd Has |
frefafaa d d s a gm gafma € 2
A, IR - T A H
T B s
B‘. m&aﬁqﬁtﬂ% - gfefda DNA
HISHEATE |
C. % T - sadt o st
a?crﬂa?h gftafad & 9 2 |
- DNA ﬁﬁs‘
mﬁaﬁq vﬁaﬁﬂ‘s”f‘émﬁl
12 e mu et <) werar @ v S
I I :
%e: . .
(1) A,BTC (2) B,CWD
(3) ABW D (4 AB,CTWD
= feu T et 6 vgTErEr A TE ST H
= FHIf :
BTl forant wmameeen # siafifea aron & |
(A) Sfraar fgfor g & |

(B) THfE %1 3R 9gd IST AT 2 |
(C) HHI™ sHifed BT & |

ETE ‘
() (AT (B)
3) (AT (O)

(2) B)W(C)
4) (A),B)T(©)

TRl ¥reg (g ®9) IUCN &1 U &9 2 :

(1) FTEIA HHGA I
2) g@wqﬁmwmﬁmm

(3) %misma B HHAIH ATH
(4) SIS INET B HHATA IF
9w YR FEifde
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95.

96.

97.

98.

99.

Number of cranial nerves in human is I
(1) 6 pairs (2) 12 pairs
(3) 24 pairs (4) 20 pairs

The sexual cycle of Plasmodium is
completed in

(1) Red Blood Corpuscles -

(2) The gut of mosquito

(3) The salivary gland of mosquito
(4) Liver tissue

Which of the following pairs are

correctly matched ?

A. . Missense — Substitution of one
mutation amino acid for

another

The altered DNA

sequence is a stop

B. Nonsense —
mutation

, codon
C. Frame — The subsequent
shift amino acids are
mutation altered
D. Silent — There is no change
mutation in the DNA
sequence

Select the. correct answer using the
codes given below.

Codes : o
(I) A, BandC (2) B,CandD
(3) A,BandD (4) A,B,CandD

Choose the correct answer using the
codes given below
Assumptions  underlying
Weinberg equilibrium are
(A) Organisms are diploid.

Hardy-

+ (B) The population size is infinitely large.

(C) Mating is random.

Codes :

(1) (A)and(B) (2) (B)and (C)
(3) (A)and (C) (4) (A),(B)and(C)
The full form of the acronym IUCN is
(1) International Conservation Union

(2) International Union for
Conservation of Nature

(3) International Union for
Conservation of Natural
Resources

(4) International Union for
Conservation of Nature and

Natural Resources
02



100. I= S77a Fefientor Ul o Hey | affertur

101.

102.

103.

0z

% frafafaa arevel w e Fifse w
= feu Tu el ) wErrET @ wE areve
1 T4 Hifo |

(A) IR THR (B) HISH BT &R
(C) SHAHi Aty (D) dryur i fafy
e :

(1) e (A), (B) T (C)

(2) %9 (B), (C) W (D)

(3) (A). (B), (C) W (D)

(4) e (A), (C) T (D)

e g @ ared @

(1) T w yftasd <1 mtsrr o

) s Friem ofv 3w wvaTe Tt §
FRTT |

(3) T 3T aRE

(4) S fem v gy @ qd e
TS 31 1 I YR

S Fa T % TR A T
ST 3 FeaTe <6 wdvem R R -
(1) TeRH 2) i

(3) uqud 4) fomen i &

~fret e T fedter aTeehi 1 e el B
FAT SHAT % ITTEY AT AT :
A. BAC B. Sfiamsh

C. YAC D. wATeHS

E. IS

(1) DEBCA
3) DBEAC

(2) BDEAC
4) CAEBD
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100. Consider the following criteria of

101.

102.

103.

classification in reference to the five
Kingdom classification and choose the
correct criteria, using the codes given
below :

(A) Cell type

(B) Level of organisation

(C) Mode of reproduction

(D) Mode of nutrition

Codes : . -

(1) Only (A), (B) and (C)

(2) Only (B), (C) and (D)

(3) (A), (B), (C)and (D)-

(4) Only (A), (C) and (D)

The testtube baby means

(1) Fertilization and development
both in uterus

(2) Fertilization in vitro and then
transplantation in uterus

(3) Embryo development- is in vitro

and eggs developed

in vitro prior to in vivo fertilization

and development

(4) Sperms

Production of androgenic haploids
using tissue culture technique was
reported for the first time in

(1) Carrot (2) Solanum

(3) Datura (4) Capsicum
Arrange the cloning vectors given
below in terms of increasing cloning
capacity :

A. BAC B. Phage

C. YAC D. Plasmid

E. Cosmid

() DEBCA 2) BDEAC
(3) DBEAC (4 CAEBD



104.

105.

106.

107.
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109.

ST ). 2.0, JurTel g IR o S fehToT
T f=fafea § @ < 91 ues aftifoa

LR
(1) = (2) 3
(3) GEHTHBA  (4) DR
frafeafaa & & =9 91 U &5 yaor |
e A e TR 2
(1) feRiat g fiefim  sftem
gt faemfdra & |
2) faafEt & s «1 fvawo s

=i |
(3) Uehtd Gt =1 Te i T AT |
(4) B @ gfehed ST HET ey |

ffoRaa d 9 S 91 g WETeHs &l
% F=d g AR 2
(1) s (2) TR
(@) @WyEEE  (4) StE-fmi
fagm s § Eufga Ster @ aiwemon
faeferRea o @ fore wrem g e s @ 2
() e (2) HUEH
(3) 3IWUL qA (4) BN
Frferfaa =1 gafera Hife
-1 -1
@ e fafs () wa.d. smiem
(b) T stfisefim (i) a‘t.qq;.raﬁqt
I
(c) ITETHH (i) - faferm
arfsfia LERETSEIRED
I
@) ghfes fafr Gv) AT,
| "
% ,
@ b)) @
(1) () @) @Gv) @
(2) Gi) (@(v) (@ (ii)
(3) Gi) (i) @Gv) @)
4) Gv) () @i) 3G
AT 98T 8 T Qs seval &
Tffertor femm o
(1) SEf (2) HUAT T 3
(3) Frewd (4) famaa
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104.

105.

106.

107.

108.

109.

Which of the following component is
not included in RCEM system of
classification for objectives ?

(1) Understanding (2) Application
(3) Creativity (4) Skill

Which of the following statement does

not directly related with the follow up

of a field trip ?

(1) To develop programmed learning
material by the students

(2). Students’ work should be analyzed

(3) Collected material should be exhibited

(4) Get report from students

Which of the following component

does not fall under Affective Domain ?

(1) Receiving (2) Responding

(3) Naturalization (4) Characterization

The collected animals in science
laboratory are preserved by which of
the following,chemical 7

(1) Amino acid (2) Kerosene
(3) Castor Oil (4) Formalin

- Match the following :
List-I List-1I
(a) Project (i) H.E.
Method Armstrong
(b) Linear (i) B.F.
Programmed Skinner
Instruction '
(c) Branching (ii1)) William H.
Programmed Kilpatrick
Instruction
(d) Heuristic (iv) Norman A.
Method Crowder
Codes :
@ @ © @
(1) @G @) @av) @)
(2) ) Gv) @) (i)
(3) @) @) @v) (@
@ Gv) @) @G (i)
The classification . of educational

objectives related to Affective domain
was given by :
(1) Dewey
(3) Gilford

(2) Krathwohl et-al
(4) Simpson

02
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fafafag § @ = o1 My /i &
firaTenss uat o oTf<m o & AR 3 e
R Y 3= CH NI 7

(1) @aEeRE (2) u<d
(3) Fea fmio (4) fEm

fr=feaiaa § @ =9 @ g 6 9w
Ffzafafr iz 2

(1) weu fafd

2) e faftr

(3) FEE gETyE fafe

(4) wETITe fafty

T Ud ST Yeiehd § ‘ST ST 378

(1) Teft fregor forwart &1 woerieRa

(2) TETCH &t T TEYUT Helieh

(3) UTGHTAT I HeATh A

(4) TPt % fermerht w wgfaamerh
U % WA ST SAfhed {SHE I
EIET

‘R I7 Ievaqet wH 2, Fd e %
T TR STdTeReT § foRam St & 17
St h Iqlerd qieaTaT fepam €t 2
(1) w=rE (2) et
(3) <t ¢ (4) UHSTES

T U9Udl U ARET Yored! H
e e T e T 2 ?

(1) Frd

(2) SrEqTRT
(3) forfereentor

(4) T Td HiEEd

fr=fefiaa § @ =9 91 T 3= qhen
HI HHCE 721 8 ?
(1) Torveeran
(3) SHfRTITRTT

(2) ua
(4) Egfsan
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110.

111.

112.

113.

114.

115.

Which one of the following is the last
category of psycho-motor domain of
educational objectives if arrange from
lowest to highest level ?

(1) Naturalization (2) Co-ordination
(3) Habit formation (4) Control

Which of the following is not a child
centered method of teaching ?

(1) Demonstration method

(2) Project method ‘
(3) Problem solving method
(4) Laboratory method

In continuous and comprehensive
evaluation ‘Comprehensive’ means :

(1) Evaluation of all teaching subjects
(2) Complete evaluation of cognitive

domain

(3) Curriculum evaluation

(4) Assessment of allround
development of the child

personality includes scholastic as
well as co-scholastic aspects of the
pupils’ growth.

“A  project is a whole-hearted
purposeful activity proceeding in a
social environment.” Who gave the
above mentioned definition of project ?
(1) Ballard (2) Kilpatrick
(3) Dewey (4) Thorndike

Which of the following is not a step of
Herbertian five steps system of lesson
planning ?

(1) Preparation

(2) Presentation

(3) Specification

(4) Comparison and Association

Which of the following is not a criteria
of a good test ?

(1) Reliability
(3) Subjectivity

(2) Validity
(4) Objectivity
o
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117.
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120.

ﬁﬁﬁﬁﬂ?ﬁ?{ ﬁaﬁﬂwwﬁm
e <11 wehaT &

(1) ITE g TishaT

(2) Haw I

(3) hael TishaT

(4) 7 3ITE 7wk

frafafea 3 @ 19 @1, -2005

T TEgfera amiestes frgr i R 2

(1) 9 & fouem @ 9t & Sfew |
ST | '

(2) WgE Wx YOI ¥ §H B, TE
gffeea = |

(3) WigF=Al F 3W Mg Haud {6 a9
Tl I TEE! [AHE F IFEEH
TR FEN S FEE 6 a8
TSGR hirgd S 18 91T |

(4) ST TgF=A! i o T |

“foqe 1 312 Shae AT qWEAe! <@d
AT B T AT BT & 3 1T 38! A1
et e € i &, arfug s fafy
% ITER gAR AfGrssh i wiemor 1 &
fomm 2 1 98 e Topea ar 2

(1) €. . TaFwH

(2) S TH.TH. WETR

(3) Y. TR TEE

@) ST T35 65

THE AT & (efafea wel o g@
STTPH | Safed -

Stferry framd

Tieor gt
e & @1y e

forea - fageiwo
a—b—oc—d

d—=c—a—b

¢c—>d—>b—a

b—sa—od—c

(@)
(b)
()
()
(1
2)
3)
“4)
T.HL.T$-2005 § fhad Wl wE
I % SMURYAT hT TS Tk T o1 2

(1) 20 2) 21
(3) 22 4) 23
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116.

117.

118.

119.

120.

‘Nature of Science’ can be best
explained in the form of

(1) Product and process

(2) Product only

(3) Process only

(4) Neither Product Nor Process

Which of the following is not a guiding
principle of recommended in NCF-
2005 report ?

(1) Connecting knowledge
outside the school
Ensuring that learning is free from
rote methods.

Enriching the curriculum to
provide for overall development of
children rather than remain
textbook centric.

(4) Comparing international curricula.

to life

)
€)

“Science is not merely looking at the
test tubes and mixing this and that to
produce something big or small, rather
to train our mind according to the
scientific methods is science.” Who
stated this statement ?

(1) Dr. S. Radhakrishnan

(2) Dr. S.S. Bhatnagar

(3) Pt. Jawaharlal Nehru

(4) Dr. Rajendra Prasad

Arrange the following steps of Unit
Plan in the correct sequential order :
(a) Learning activities

(b) Testing procedures

(c) Objectives with specifications

(d) Content analysis

(1) a=b—=c—>d

2) d—»>c—a—b

3) c—=d—>b—a

4 b—a—d—c

How many National focus groups
position papers were set up in
NCF-2005 ?
(1) 20
3) 22

2) 21
(4) 23

c2
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fr=fefea & & w9 ot awe o) &
T GREa] 1 AT 6l T R 2
(1) e = /ga
(2) AT
(3) i
(4) 3rEEAIHA
Frfafea = gifaa $ifve
-1 GER-11
(a) HheFTR® () HAAR -
fore sugw s/
ST ST G&UI
(b) Frerrenes (i) mifer Y free
aiieru
(c) Iu=RIeAss  (iii) Seval i wfey =
ey - Ryl
(d) = (iv) IR sisATsal
YT I YA
e :
(@ (b) (© ()
(1) G @) (Gv) (i)
(2) (i) Gv) @) dD
(3) @Gv) (i) (1) (i)
(4) (i) Gi) . @Gv) @)

%—ﬁﬁﬁwmm%mﬁ

TEHE S fFe wRl § ww e R ¢

(1) e Tegaii Bl g w0 7 |

(2) Toreft oft wmi 6 S |

(3) Fraeha Tl @ w0t g o wnwht
I TEhid % & faa |

(4) HET-HE ! Gt T H |
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121.

122.

123.

Which of the following is not a
technique to measure the qualitative
changes in a child ?

(1) Assignment
(2) Questionnaire
(3) Inventory
(4) Observation

Match the following :
List-I List-II

(a) Summative (i) Formulating a
Evaluation suitable plan

of action for
, ; weak learners
(b) Diagnostic  (ii)

Monitoring
testing Progress
(¢) Remedial (iii) To determine
Teaching the
achievement
of objectives
(d) Formative (iv) Identifying
Evaluation learning
difficulties
Codes :
@ (b © @
(D) G @) Gv) (i)
() (1) Gv) @(G) (i)
() Gv) @) () (i)
4 (i) () Gv) @)

In context of multisensory teaching
aids, the magnetic board is used for

(1
)
3

Separating objects
Conducting any experiments

Display visual-aids backed with
magnetic material

(4) Making the class beautiful
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126.

127.
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128.

T TR B AT x Tt 5 WY
x=~%t2+16t+3ﬁaaﬁwwé,
et x et & aun ¢ Yspvg H ] | 9% g
o 3 o I for e v R
(1) 36s 2) 30s
(3) 24s @ 12s

T 98 % T T HEwm g H a
IgETAH T, H=nT?2 % AR Haferd
R InHAMR (g =10 m/s? )

(1) 5/4 (2) 512

3) 5 @) 10

afe |AxB|=+3 A-B, a8 |A+B|
FIAE B
172

) [A2+B2 +§J§—J

2) A+B
(3) (A2+B2+ /3 AB)12
(4) (A2+B%+AB)?

10 kg SETHT %1 Tsh AT Th &fasl Hag

ST A % o et SR I3 ?

/(’F
m e300

(1) 50N (2) 100N

(3) 200N - (4) 250N

T TFAHR e i T80T (4 + 0.04)
cm 9T TR (2 + 0.02) cm ? | §%
et & HIaA 7 arfRreraw o Ffe ]
(1) 12% (2) 6%

(3) 2% 4) 4%
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124.

125.

126.

127.

128.

The displacement x of a bo'dy varies

with time as x = —%t?'} 16t + 3, where

x is in metres and t is in seconds. The
time taken by the body to come to rest
is

(1) 36s
3) 24s

(2) 30s
4) 12s

For a projectile, the maximum height
reached H and the time of flight T are
related as H = nT? The value of n is
(Take g = 10 m/s?)
(1) 5/4

3) 5

(2) 572
4) 10

If|[AxB|= J3 X - B, then the value
of | A +B|is

AB 1/2
(1) [A2 +B? +-\/—§J
2) A+B
(3) (A2+B2+ 43 AB)2
(4) (A?+B?+AB)!”2

A block of mass 10 kg is kept on a
horizontal surface. A force F is applied
on the block as shown in figure. For
which minimum value of F, the block
will be lifted up ?

/F
- ~130°

(2) 100N
4) 250N

(1) SO0N
(3) 200N

A rectangular plate has length
(4+0.04) cm and width (2 £0.02) cm.
The maximum percentage error in the
measurement of its area is

1) 12% 2) 6%
3) 2% @) 4%

02
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F
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Vi

Fcos©

(1
2) E-cos 0-ug
m
F )
(3) —(cos O+ LsinB) - pug
m

4) -E(cos 0 — L sin 8) — g
m
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129.

130.

131.

132.

A body is acted upon by a variable force
F =3+ 0.5 x) N. The work done in
moving the body fromx=0to x=4 m s

(1) 1617 (2) 321
3) 81 (4) 2417
The maximum height attained by a

Rocket fired from the surface of earth
(radius R) with speed equal to 50% of

escape velocity from the surface of
earth is

R 16R
1) — 2) —
()2 .() 5

R R

) Ay
(3)8 ,()3

The mass of a solid sphere.is equal to
the mass of a spherical shell. Their
moments of inertia about diametric
axes are also equal. The ratio of their
radius is '

(L) i3

3) J5:43

(2) 3:5
4 1:1

A block of mass m resting on a rough
horizontal table (co-efficient of friction={1)
is pulled by a force F as shown in
figure. The acceleration of - block
moving horizontally is

m

Vi
Fcos 8

m

6y

(2) —-Fucos 0—ug
m

3) E(cos 0+ Wsin B) - ug
m

4) E(cos 0 —-Wsin B) — ug-
m
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133.

134.

135.

136.

137.

The upper end of a wire is rigidly

clamped. By applying a force F its

length is elongated by /. The work done
in this elongation is '

(1) FI (2) 2F
F Fl
(3) o (4) =

The dimension of surface tension is -
(1) MIL'T?] (2 MILOT?]
3) MILIT!] @) MIL2T7]
A spherical ball of radius r, is falling in

a liquid of viscosity 1, with a velocity
v, then retarding viscous force acting on

_the spherical ball is

(1) inversely proportional to both r
and v

directly proportional to
inversely proportional to v
inversely proportional to r but
directly proportional to v

directly proportional to bothr and v

(2) r but

3
4)

A 40 W heat source is applied to a gas
sample for 25 sec. during which time
the gas expands and does 750 J of work
on its surroundings. The change in the
internal energy of the gas is

(1) 125017 (2) 25017
(3) 17507 . (4) 1507

The differential equation of simple-
harmonic motion of a particle is given

d2 :
. = 0, where a and b are

constants. The ratio of the magnitude of
the maximum speed to the maximum
acceleration of the particle is

T 2
a
\/5
b

DY
(2) b
3) @ \/E

a
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@Hﬁﬁaﬁﬂﬁmﬁ?aﬁ'ﬁ%ﬁ%,wl

1 SITelt 7 | foog o1 =amg

(1) JruiEfda @ae |-

(2) T&'@r‘azméaﬁtﬁﬂm%l
(3) "R |

@) SEaiR |

Tk a&] 5 e § 50 °C | 45 °C 7% 3
Bt & a1 R 3Tt 8 e § 45 °Cc @
40 °C d 3t gt & | whEw &1 A
UL

(1) 34°C
(3) 68°C

(2) 17°C
(4) 27°C

et 2t w 100 Hz 3Tfd, 0.040 m
ques e 2.0 mm FEW H T
T AT T oA & R | S W
et w0 A arfteraw =@ s § 2,
TR

(1) 0.24 (2) 1.26
(3) 4 (4). 15
ﬁa%ﬁ%(%:%)ﬁm

o B TS £, 3 | 9 B g @ ur
(1 = 4/3) ¥ wT=aRa foRam s 2, &
<t o BlFE TS f, RS R £, 3
f, < ofte & Trary B

1) f,=2f @)y L=t
@) f,=f/4 @) f,=4f
Th 31eH i (P, V|, T) & (P,, V

T, PV2 = C (S8 C T 2) % arem
Tereft srshm =1 UTer et & | et Ry o
(1) AP >P, T, > T,
(2) FCV,>V, T, <T,

(3) AV,>V, T, >T,

(4) P >P, TV, >V,

138.

139.

140.

141.

142.

A copper disc with a central hole is
heated. The diameter of the hole

(1) remains unchanged

(2) first decreases and then increases
(3) decreases

(4) increases

A body cools down from 50 °C to
45 °C in 5 minutes and then from 45 °C
to 40 °C in another 8 minutes. The
temperature of the surroundings is
approximately

(1) 34°C
(3) 68°C

(2) 17°¢

4) 27°C

A transverse travelling sinusoidal wave
on a string has a frequency of 100 Hz,
wavelength of 0.040 m and an
amplitude of 2.0 mm. The maximum
velocity in m/s of any point on the
string is approximately

(1) 0.24 (2) 1.26

3) 4 4) 15

If a lens of glass of refractive index -;— g

has a focal length f, in air. Lens is

shifted from air to water (i = 4/3), then
focal length of lens in water becomes
f,,- The relation between f,andf is-

(1) f,=2f @) f,=f/2
@) f,=f/4 @ f,=4f,

An ideal gas follows a process
described by PV? = C (C is a constant)
from P, V,, T to (P, V,, T,). Then
(1) IfP,>P, then T,>T,

(2) IfV,>V, thenT,<T,

(3) IfV,>V, then T,>T,

(4) IfP,>P,then V>V,
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144.
e ARy @1 R | AR oo U e §

10 WF % T G i 50 V o fervram=i
T AR Frer srar & 9 R o 3=
AR Gerher % T e B e fea
T 2 | 37" SRS R 20 VR
S 2 | feefr et < anf B
(1) 10 pF (2) 20 uF
(3) 30uF (4) 15puF

weffa qfgy # s B 1.5V, 045 W

IR g g, Haané;mgw

145.

146.

Tfere T BN ?
1,6V
|l
30 X R
AN AAN—2Y
\law)/B
(1) 045Q 2) 1Q
3) 3Q 4) 5Q

o o afeferst # 200 WSl
JATeT & qun T 2.5 A ORI R | 56
Frg TR & 8

(1o = 47 x 1077 Wb/(m-Amp))

(1) 3.14 x 102 Wb/m?

(2) 6.28 x 10-2 Wb/m?

(3) 9.42 x 102 Wb/m?

(4) 12.56 x 1072 Wb/m?

QY TeTh el TH G § 95 g WE |
= Y DR T W HA ARV Q B | WS
et Y e B Tl A QI 8 aT g
I & | G T 1 T =Terh dR |
Ste fou 9 % W€ BR T ¥ T W
AT & AN

(1) QRTAQR (2) Q3TAA2Q/3
(3) QATUI3Q/4 (4) TITMQ
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A 10 pF capacitor is. charged to a
potential difference of 50 V and is
connected to another uncharged
capacitor in parallel. Now, the common
potential difference becomes 20 V. The
capacitance of second capacitor is

(1) 10 uF. (2) 20 uF
(3) 30 uF &) -15 UF

In the circuit shown, bulb B rated as

1.5V, 045 W. If the bulb glows with

full mtensnty so that what will be the

equlvalent resistance between X and Y ?
[ SV

i

3Q X R

AAA- AAA- Y
o

(1) 045Q 2) 1Q

3) 3Q 4 5Q

A long solenoid has 200 turns per
centimeter and carries a current of
2.5 A. The magnetic field at its centre is

(o = 47 X 1077 Wb/(m~Amp))

(1) 3.14 x 1072 Wb/m?
(2) 6.28 x 1072 Wb/m?
(3) 9.42 x 102 Wb/m?
4) 12.56 x 1072 Wb/m?

Two conducting spheres are far apart.
The smaller sphere carries a total
charge Q. The larger sphere has a radius
that is twice that of smaller and is
neutral. After the two spheres are
connected by a conducting wire the
charge an the smaller and larger
spheres, respectively, are -

(1) Q/2and Q/2 (2) Q/3 and 2Q/3
(3) Q/4and 3Q/4 (4) Zeroand Q

02
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(2) uftaey =1 wifeRt T 1 8 of wimy
# R % " | ~gaw wiew afia
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T Al i e 2 Te R Y fenat

W?ﬂgmﬁ%mmr
(1) 3:5
(3) 40:177
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At resonance in LCR circuit in ac,

which of the following statement is
correct ?

(1) Power factor of the circuit is 1 and
maximum power is dissipated in
circuit through R.

Power factor of the circuit is-1 and
minimum power is dissipated in
circuit through R.

Power factor of the circuit is 0 and
maximum power is dissipated in
circuit through R.

Power factor of the circuit is 0 and
minimum power is dissipated in
circuit through R.

2
3

C))

Two identical metal plates are
separately irradiated with two different
photons of energies 1.0 eV and 2.5 eV
respectively. The work function of
metal surface is 0.5 eV. The ratio of
maximum kinetic energies of electrons
emitted from the two surface is

(1) 12 (2) 1:4

B 253 4) 1:25

The ratio of radii of %;Al nucleus and

Do s wolenvs imatel
52 e.nUC €eus 18§ approxuna e y

(1) 3:5 2y 13;:52
(3) 40:177 4) 14:73

volt X sec
amp

(a) weber / amp (b)

tesla X metre?
(c) _—"“““_amp (d) ohm X sec

Using above codes, which of the
following are equivalent to Henry
(S.I. unit of Inductance) ?

(1) All (a), (b), (c) and (d) are correct.
(2) Only (a) and (b) are correct.

(3)
4)

Only (a) and (c) are correct.
Only (a), (b) and (c) are correct.
o
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